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log ∆L  Leuchtdichte-Diffenz-
renzschwelle; ∆L= L .F Lg=0,6cd/m2

Lg=0,12cd/m2
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x y
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F=A1(F3’/F3+F4’/F4);  ∆L = L .F

LI 0,4s A
equationA1=24.6

A2=0.49
A3=1.0
A4=0.33



UG061−5A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle; ∆L= L .F Lg=6cd/m2

Lg=1,2cd/m2
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F=A1(F3’/F3+F4’/F4);  ∆L = L .F

LI 0,4s A
equationA1=30.9

A2=−0.31
A3=1.0
A4=0.33
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle; ∆L= L .F Lg=60cd/m2

Lg=12cd/m2
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F=A1(F3’/F3+F4’/F4);  ∆L = L .F

LI 0,4s A
equationA1=38.88

A2=−1.11
A3=1.0
A4=0.33
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle; ∆L= L .F Lg=600cd/m2

Lg=120cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4);  ∆L = L .F

LI 0,4s A
equationA1=49.17

A2=−1.93
A3=1.0
A4=0.33
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle; ∆L= L .F Lg=6000cd/m2

Lg=1200cd/m2
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x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4);  ∆L = L .F

LI 0,4s A
equationA1=63.0

A2=−2.76
A3=1.0
A4=0.33


